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First group:

(1)

(2)

(3)

(4)

(5)

Investigat the sign of the function

f:f(x) = 7x — x*> — 10, representing this on the number
line.

If L, m are two roots of the equation x* —5x+6 =0
where L > m find the quadrelaterl equation of roots
L+2m+ 2.

If 2cos@ = —1,where 180° < 0 < 270°
find the measure of angle 0.

In the opposite figure:

ABC is a triangle E is the mid point
Of BC,D € AC whereDE // AB
Find the value of x.

In the opposite figure
AB //CD // XY, AE =4 cm,
AC=10cm, BE=6cm,

DY = 4.5 cm, find the length
of BD, CX

c 10cm A 4cm



ot 9 ot | 55139
ol plaid dyS pb 8la¥1
il o i i

Second group:
(1) Investigat the sign of the function : f(x) = 8x — x* — 15,

representing this on the number line.

(2) If L, m are two roots of the equation x> —5x+ 6 = 0
where L > m find the quadrelaterl equation of roots
L+1m+ 1.

(3) If 2cos0 = —1,where 90° < 0 < 180°
find the measure of angle 0. A

(4) In the opposite figure:

ABC is a triangle E is the mid point B D
Oof BC,D € AC whereDE //AB >,
: O

Find the value of x.

(5) In the opposite figure
AB //CD // XY, AE =4 cm,
XC=3cm,BD=15cm,

BE = 6 cm, find the length
OofYD,CA




ot 9 ot | 55139
ol plaid dyS pb 8la¥1
il o i i

Third group:
(1) Investigat the sign of the function : f(x) = 7x — x* — 12,

representing this on the number line.

(2) If L, m are two roots of the equation x> —5x+6 =0
where L > m find the quadrelaterl equation of roots

L+3 m+ 3.

(3) If 2cos0 = 1,where 0° < 0 < 90°
find the measure of angle 0.

(4) In the opposite figure:
ABC is a triangle E is the mid point
Of BC,D € AC whereDE // AB
Find the value of x.

(5) In the opposite figure
AB//CD // XY,AC=10cm,
XC=3cm,BD=15cm,

BE = 6 cm, find the length
of AE, DY

3cm C 10cm A





